21 =92 22=-9%x2=4, 22=2x2x2=8 0|22 g =3 0|t}
62 =6x6=236°]2Z p =236 °|t}.




2. 300 ol 7FF 717k 11 9] wij4=E oot

> E

> =g 297

11x27 = 297, 11x28 = 308 ©] 22 300 °f| 7F% 71712 vij$=
297 o|t},




120 e} 28 79] wj40] A48 Fatolat,
= A

1= V|

120-7=17.14---
= Tx1=7Tx2=14, ---, 7Tx17=119




4. 2xn o] ofE ArALof AlAFe] L, g o] oJ® zA2f Al Fol He

QA n oA 7 A2 A7

@® 100 @ 200 ® 300 @ 400 (3)500

71 e A A% A 2xn 0] AABO)ERE 4 2 HoJL& 2
7 % W &S 9, g o] AJolBE 5 2 5 7} A W FafA
=

n=2X2Xbx5HxH=>500




5.

360 a = b? & WEAZ|E 495 a, b FNA 71 2L 58

x, yEt @ o x +y o] oz ke 509

@70 @ 80 ® 90 @ 100

B

360 =23 x 32 x5

2|47} 29] HjZ=o]ojof SFELR x = 2 x 50|},
(22 x3x5)? = 60%, x =10, y =60

kA x4y = 70°]Tk.




